## Sufficient conditions for starlikeness of order $\alpha$

By NAILAH M. ALDIHAN (Riyadh) and TEODOR BULBOACĂ (Cluj-Napoca)


#### Abstract

In this paper we obtain some sufficient conditions for an analytic function to be starlike of order $\alpha$, by using the differential operator recently introduced by F. Al-Oboudi. For such classes we also give some applications of a result due to M. Robertson.


## 1. Introduction and preliminaries

Let $H(\mathrm{U})$ be the space of all analytic functions in the unit $\operatorname{disc} \mathrm{U}=\{z \in \mathbb{C}:|z|<1\}$. For $n \in \mathbb{N}=\{1,2, \ldots\}$ let define the class of functions

$$
A_{n}=\left\{f \in H(\mathrm{U}): f(z)=z+a_{n+1} z^{n+1}+\ldots, \quad z \in \mathrm{U}\right\}
$$

Let $A \equiv A_{1}$ and let $S$ denotes the subclass of $A$ consisting in those functions that are univalent in U .

A function $f \in A$ is called to be a starlike function of order $\alpha$, if and only if

$$
\operatorname{Re} \frac{z f^{\prime}(z)}{f(z)}>\alpha, \quad z \in \mathrm{U}
$$

where $\alpha<1$. The class of all starlike functions of order $\alpha$ is denoted by $S^{*}(\alpha)$; we write $S^{*} \equiv S^{*}(0)$ and, moreover $S^{*}(\alpha) \subset S$ for $0 \leq \alpha<1$.

We mention that the class of all functions $f \in A_{n}$ that satisfy the above inequality is denoted by $S_{n}^{*}(\alpha)$, that is $S_{n}^{*}(\alpha)=S^{*}(\alpha) \cap A_{n}$.

Mathematics Subject Classification: 30C45.
Key words and phrases: analytic function, starlike and convex function, differential operator, differential subordination.

Recently, F. Al-Oboudi defined in [Ob04] the differential operator $D_{\lambda}^{m}$ : $H(\mathrm{U}) \rightarrow H(\mathrm{U})$ by

$$
\begin{align*}
D_{\lambda}^{0} f(z) & =f(z) \\
D_{\lambda}^{1} f(z) & =(1-\lambda) f(z)+\lambda z f^{\prime}(z)  \tag{1.1}\\
D_{\lambda}^{m} f(z) & =D_{\lambda}^{1}\left(D_{\lambda}^{m-1} f(z)\right) \tag{1.2}
\end{align*}
$$

If $f \in A_{n}$, then from (1.1) and (1.2) we may easily deduce that

$$
\begin{equation*}
D_{\lambda}^{m} f(z)=z+\sum_{k=n+1}^{\infty}[1+(k-1) \lambda]^{m} a_{k} z^{k} \tag{1.3}
\end{equation*}
$$

where $m \in \mathbb{N}_{0}=\mathbb{N} \cup\{0\}$ and $\lambda \geq 0$. Remark that, for $\lambda=1$ we get the operator introduced by Gr. Şt. SĂLĂGEAN in [Sal83].

Definition 1.1. Let $S^{m}(n, \lambda, \alpha)$ denotes the class of functions $f \in A_{n}$ which satisfy the condition

$$
\begin{equation*}
\operatorname{Re} \frac{D_{\lambda}^{m} f(z)}{D_{\lambda}^{m-1} f(z)}>\alpha, \quad z \in \mathrm{U} \tag{1.4}
\end{equation*}
$$

for some $\alpha<1, \lambda \geq 0$ and $m \in \mathbb{N}$.
In order to prove that all the functions of $S^{m}(n, \lambda, \alpha)$ are univalent in U , first we will show an inclusion and a sharp inclusion relation between these classes.

To prove our main results we will need the next definition and lemmas.
If $f, g \in H(\mathrm{U})$ we say that the function $f$ is subordinate to $g$, or $g$ is superordinate to $f$, if there exists a function $w$ analytic in U , with $w(0)=0$ and $|w(z)|<1, z \in \mathrm{U}$, such that $f(z)=g(w(z))$ for all $z \in \mathrm{U}$. In such a case we write $f(z) \prec g(z)$.

Remark that, if $g$ is univalent in U , then $f(z) \prec g(z)$ if and only if $f(0)=g(0)$ and $f(\mathrm{U}) \subseteq g(\mathrm{U})$.

The next lemma represents a result concerning the generalized Libera integral operator introduced by S. D. Bernardi in [Ber69], which shows that this operator preserves the starlikeness, the convexity and the close-to-convexity. We will give now only a part of the original form.

Lemma 1.1 ([LewMiZl76], [Pa79]). If $L_{c}: A \rightarrow A$ is the integral operator defined by $L_{c}(f)=F$, where

$$
F(z)=\frac{c+1}{z^{c}} \int_{0}^{z} f(t) t^{c-1} \mathrm{~d} t
$$

and $\operatorname{Re} c \geq 0$, then $L_{c}\left(S^{*}\right) \subset S^{*}$.
The next two lemmas deal with the so called Briot-Bouquet differential subordinations:

Lemma 1.2 ([EeMiMoRe83, Theorem 1]). Let $\beta, \gamma \in \mathbb{C}$ and let $h$ be a convex function in U with $\operatorname{Re}[\beta h(z)+\gamma]>0, z \in \mathrm{U}$. If $p$ is analytic in U , with $p(0)=h(0)$, then

$$
p(z)+\frac{z p^{\prime}(z)}{\beta p(z)+\gamma} \prec h(z) \Rightarrow p(z) \prec h(z) .
$$

Lemma 1.3 ([MiMo00, Theorem 3.3e]). Let $\beta>0, \beta+\gamma>0$ and consider the integral operator $\mathrm{I}_{\beta, \gamma}$ defined by

$$
\mathrm{I}_{\beta, \gamma}(f)(z)=\left[\frac{\beta+\gamma}{z^{\gamma}} \int_{0}^{z} f^{\beta}(t) t^{\gamma-1} \mathrm{~d} t\right]^{1 / \beta}
$$

If $\alpha \in\left[-\frac{\gamma}{\beta}, 1\right)$ then the order of starlikeness of the class $\mathrm{I}_{\beta, \gamma}\left(S_{n}^{*}(\alpha)\right)$, i.e. the largest number $\delta=\delta_{n}(\alpha ; \beta, \gamma)$ such that $\mathrm{I}_{\beta, \gamma}\left(S_{n}^{*}(\alpha)\right) \subset S_{n}^{*}(\delta)$, is given by the number $\delta_{n}(\alpha ; \beta, \gamma)=\inf \left\{\operatorname{Re} q_{n}(z): z \in \mathrm{U}\right\}$, where

$$
q_{n}(z)=\frac{1}{\beta Q_{n}(z)}-\frac{\gamma}{\beta} \quad \text { and } \quad Q_{n}(z)=\frac{1}{n} \int_{0}^{1}\left(\frac{1-z}{1-t z}\right)^{\frac{2 \beta(1-\alpha)}{n}} t^{\frac{\beta+\gamma}{n}-1} \mathrm{~d} t
$$

Moreover, if $\alpha \in\left[\alpha_{0}, 1\right)$, where $\alpha_{0}=\max \left\{\frac{\beta-\gamma-n}{2 \beta} ;-\frac{\gamma}{\beta}\right\}$ and $g=\mathrm{I}_{\beta, \gamma}(f)$ with $f \in S_{n}^{*}(\alpha)$, then

$$
\operatorname{Re} \frac{z g^{\prime}(z)}{g(z)}>\delta_{n}(\alpha ; \beta, \gamma)=\frac{\beta+\gamma}{{ }_{2} F_{1}\left(1, \frac{2 \beta(1-\alpha)}{n}, \frac{\beta+\gamma+n}{n} ; \frac{1}{2}\right) \cdot \beta}-\frac{\gamma}{\beta}, \quad z \in \mathrm{U}
$$

where ${ }_{2} F_{1}$ represents the hypergeometric function.
Lemma 1.4 ([MiMo87]). Let $\Omega \subset \mathbb{C}$, and suppose that the mapping $\psi$ : $\mathbb{C}^{2} \times \mathrm{U} \rightarrow \mathbb{C}$ satisfies $\psi(i x, y ; z) \notin \Omega$ for $z \in \mathrm{U}$, and for all $x, y \in \mathbb{R}$ such that $y \leq-n\left(1+x^{2}\right) / 2$. If the function $p(z)=1+c_{n} z^{n}+\ldots$ is analytic in U and $\psi\left(p(z), z p^{\prime}(z) ; z\right) \in \Omega$ for all $z \in \mathrm{U}$, then $\operatorname{Re} p(z)>0$, for all $z \in \mathrm{U}$.

For the result presented in the last section, we will need the next lemma of M. Robertson.

Lemma 1.5 ([Rob61]). Let $F: \mathrm{U} \times[0,+\infty) \rightarrow \mathbb{C}$ be an analytic function in the unit disc U for all $0 \leq t \leq 1$, with $F(0, t)=0$ for all $0 \leq t \leq 1$. Suppose that $F(\cdot, 0)=f \in S$, and let $p>0$ a such number for which it exists

$$
F(z)=\lim _{t \rightarrow 0} \frac{F(z, t)-F(z, 0)}{z t^{p}}
$$

If $F(z, t) \prec f(z)$ for all $0 \leq t \leq 1$, then

$$
\operatorname{Re} \frac{F(z)}{f^{\prime}(z)} \leq 0, \quad z \in \mathrm{U}
$$

If in addition, $F$ is also analytic in the unit disc U and $\operatorname{Re} F(0) \neq 0$, then

$$
\operatorname{Re} \frac{F(z)}{f^{\prime}(z)}<0, \quad z \in \mathrm{U}
$$

## 2. Inclusion relations between the $S^{m}(n, \lambda, \alpha)$ subclasses

Theorem 2.1. 1) For all $0 \leq \lambda \leq 1$ and $1-\lambda \leq \alpha<1$, the inclusion

$$
\begin{equation*}
S^{m+1}(n, \lambda, \alpha) \subseteq S^{m}(n, \lambda, \alpha) \tag{2.1}
\end{equation*}
$$

holds for all $m \in \mathbb{N}$.
2) If $0<\lambda \leq 1$ and $1-\lambda \leq \alpha<1$, then the inclusion

$$
\begin{equation*}
S^{m+1}(n, \lambda, \alpha) \subseteq S^{m}(n, \lambda, \beta(n, \lambda, \alpha)) \tag{2.2}
\end{equation*}
$$

where

$$
\beta(n, \lambda, \alpha)=\frac{1}{{ }_{2} F_{1}\left(1, \frac{2(1-\alpha)}{n \lambda}, \frac{1+n \lambda}{n \lambda} ; \frac{1}{2}\right)}
$$

is sharp and holds for all $m \in \mathbb{N}$.
Proof. For the special case $\lambda=0$, since $D_{0}^{m} f(z)=f(z), z \in \mathrm{U}$, for all $m \in \mathbb{N}_{0}$, we have the equality $S^{m+1}(n, 0, \alpha)=S^{m}(n, 0, \alpha), m \in \mathbb{N}$.

Let now consider the case $\lambda>0$. If we let

$$
\begin{equation*}
p(z)=\frac{D_{\lambda}^{m} f(z)}{D_{\lambda}^{m-1} f(z)} \tag{2.3}
\end{equation*}
$$

then $p(0)=1$, and the first step of our proof is to show that $p \in H(\mathrm{U})$.
According to the definition (1.4), if $f \in S^{m+1}(n, \lambda, \alpha)$ then $f \in A_{n}$ and

$$
\begin{equation*}
\operatorname{Re} \frac{D_{\lambda}^{m+1} f(z)}{D_{\lambda}^{m} f(z)}>\alpha, \quad z \in \mathrm{U} \tag{2.4}
\end{equation*}
$$

If we denote by $H(z)=D_{\lambda}^{m} f(z)$ and using the definitions (1.1) and (1.2), the inequality (2.4) becomes

$$
\begin{equation*}
\operatorname{Re} \frac{z H^{\prime}(z)}{H(z)}>\frac{\alpha+\lambda-1}{\lambda}, z \in \mathrm{U} \tag{2.5}
\end{equation*}
$$

From (1.3) we have $H(0)=H^{\prime}(0)-1=0$, and combining this with the inequality (2.5) we obtain that $H \in S^{*}$, whenever $1-\lambda \leq \alpha<1$.

Denoting by $h(z)=D_{\lambda}^{m-1} f(z)$, where $m \in \mathbb{N}$, then $h(0)=h^{\prime}(0)-1=0$, and from (1.1) and (1.2) we get

$$
\begin{equation*}
(1-\lambda) h(z)+\lambda z h^{\prime}(z)=H(z) \tag{2.6}
\end{equation*}
$$

For $\lambda=1$ the above differential equation has the solution

$$
h(z)=\int_{0}^{z} \frac{H(t)}{t} \mathrm{~d} t
$$

where $H \in S^{*}$. From the well-known result concerning the Alexander integral operator we deduce that $h$ is convex in U , so is a univalent function in U .

For $0<\lambda<1$, the relation (2.6) becomes

$$
\begin{equation*}
h(z)+\frac{\lambda}{1-\lambda} z h^{\prime}(z)=\frac{H(z)}{1-\lambda} \tag{2.7}
\end{equation*}
$$

where $H \in S^{*}$. It is easy to see that the differential equation (2.7) has the solution

$$
h(z)=\frac{1}{\lambda} \frac{1}{z^{\frac{1}{\lambda}-1}} \int_{0}^{z} H(t) t^{\frac{1}{\lambda}-2} \mathrm{~d} t=L_{c}(H)(z)
$$

where $c=\frac{1}{\lambda}-1$. Since $0<\lambda<1$, then $\operatorname{Re} c \geq 0$, and from Lemma 1.1 it follows that $h \in S^{*}$, so $h$ is a univalent function in U .

From the above results we conclude that $h$ is a univalent function in U with the single zero $z_{0}=0$, i.e. $D_{\lambda}^{m-1} f(0)=0,\left(D_{\lambda}^{m-1} f\right)^{\prime}(0)=1 \neq 0$ and $D_{\lambda}^{m-1} f(z) \neq 0$ for all $z \in \dot{\mathrm{U}} \equiv \mathrm{U} \backslash\{0\}$, hence we conclude that the function $p$ defined by (2.3) is analytic in U .

The inequality (2.4) together with (1.1) and (1.2) shows that

$$
p(z)+\lambda \frac{z p^{\prime}(z)}{p(z)}=\frac{D_{\lambda}^{m+1} f(z)}{D_{\lambda}^{m} f(z)} \prec h(z)=\frac{1+(1-2 \alpha) z}{1+z} .
$$

In the case $\lambda>0$, according to Lemma 1.2 for $\beta:=1 / \lambda$ and $\gamma:=0$, and using the fact that

$$
\operatorname{Re}[\beta h(z)+\gamma]>\frac{\alpha}{\lambda} \geq 0, ; z \in \mathrm{U},
$$

we deduce that $p(z) \prec h(z)$, i.e. $f \in S^{m}(n, \lambda, \alpha)$.

To prove the second part of the theorem we will use Lemma 1.3 for the special case $\beta:=1 / \lambda$ and $\gamma:=0$. We see that it is necessary to have $\alpha \in\left[\alpha_{0}, 1\right)$ and $1-\lambda \leq \alpha<1$, where $\alpha_{0} \equiv \max \left\{\frac{1-n \lambda}{2} ; 0\right\}$, hence

$$
1>\alpha \geq \max \left\{\frac{1-n \lambda}{2} ; 1-\lambda ; 0\right\}=1-\lambda .
$$

Since the conditions of Lemma 1.3 are satisfied, we obtain the sharp bound

$$
\operatorname{Re} p(z)>\delta_{n}(\alpha ; \beta, \gamma)=\beta(n, \lambda, \alpha)=\frac{1}{{ }_{2} F_{1}\left(1, \frac{2(1-\alpha)}{n \lambda}, \frac{1+n \lambda}{n \lambda} ; \frac{1}{2}\right)}, \quad z \in \mathrm{U}
$$

that is $f \in S^{m}(n, \lambda, \beta(n, \lambda, \alpha))$.
Considering in the above theorem the special case $n=1$, for $\lambda=1$ we need to have that $0 \leq \alpha<1$. For $\alpha=0$, since

$$
\delta_{1}\left(\frac{\beta-\gamma-1}{2 \beta} ; \beta, \gamma\right)=\frac{\beta-\gamma}{2 \beta}
$$

we get $\beta(1,0, \lambda)=1 / 2$. Taking in the relation (2.2) of Theorem 2.1 the special case $\alpha=0$ we obtain the next result:

Corollary 2.1. The inclusion

$$
S^{m+1}(1,1,0) \subseteq S^{m}\left(1,1, \frac{1}{2}\right)
$$

is sharp and holds for all $m \in \mathbb{N}$.

## 3. Sufficient conditions for starlikeness

Recently, Li and Owa [LiOw02] obtained the following result: if $f \in A$ satisfies

$$
\operatorname{Re}\left[\frac{z f^{\prime}(z)}{f(z)}\left(\alpha \frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}+1\right)\right]>\frac{-\alpha}{2}, \quad z \in \mathrm{U}
$$

for some $\alpha \geq 0$, then $f \in S^{*}$.
In fact, Lewandowski, Miller and ZŁotkiewicz in [LewMiZl76] and Ramesha, Kumar and Padmanabhan in [RaKuPa95] have proved the next weaker from of this theorem: if $f \in A$ satisfies

$$
\left|\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\left(\frac{z f^{\prime}(z)}{f(z)}-1\right)\right|<\rho, \quad z \in \mathrm{U}
$$

where $\rho=2.2443697$, then $f \in S^{*}$.
The above result with $\rho=3 / 2$ and $\rho=1 / 6$ were earlier proved by Li and Owa in [LiOw98] and Obradović and Ruscheweyh in [ObRu92] respectively. Also, Ravichandran, Selvaraj and Rajalaksmi in [RaSeRa02] obtained some sufficient condition for functions in $A_{n}$ to be starlike of order $\beta$.

We will obtain some other sufficient condition for functions to be starlike of order $\alpha$, by using the differential operator $D_{\lambda}^{m}$ already defined by (1.1) and (1.2).

Theorem 3.1. Let $\alpha \geq 0, \beta<1, m \in \mathbb{N}$ and $\lambda \geq 0$. If the function $f \in A_{n}$ satisfies

$$
\begin{gathered}
\operatorname{Re} \frac{D_{\lambda}^{m} f(z)}{D_{\lambda}^{m-1} f(z)}\left[\alpha \frac{D_{\lambda}^{m+1} f(z)}{D_{\lambda}^{m} f(z)}+(1-\alpha)\right]>\alpha \beta\left(\beta+\frac{n \lambda}{2}-1\right) \\
+\left(\beta-\frac{\alpha \lambda n}{2}\right), \quad z \in \mathrm{U}
\end{gathered}
$$

then $f \in S^{m}(n, \lambda, \beta)$.
Proof. Let define the function $p$ by

$$
p(z)=\frac{1}{1-\beta}\left(\frac{D_{\lambda}^{m} f(z)}{D_{\lambda}^{m-1} f(z)}-\beta\right)
$$

From the assumption it follows $p \in H(\mathrm{U})$ with $p(z)=1+c_{n} z^{n}+\ldots$, and a simple computation shows that

$$
\alpha \frac{D_{\lambda}^{m+1} f(z)}{D_{\lambda}^{m} f(z)}=\frac{\alpha \lambda(1-\beta) z p^{\prime}(z)}{(1-\beta) p(z)+\beta}+\alpha[(1-\beta) p(z)+\beta] .
$$

Hence

$$
\begin{aligned}
\frac{D_{\lambda}^{m} f(z)}{D_{\lambda}^{m-1} f(z)} & {\left[\alpha \frac{D_{\lambda}^{m+1} f(z)}{D_{\lambda}^{m} f(z)}-(1-\alpha)\right]=\alpha(1-\beta) \lambda z p^{\prime}(z)+\alpha(1-\beta)^{2} p^{2}(z) } \\
& +(1-\beta)(2 \alpha \beta+1-\alpha) p(z)+\beta(\alpha \beta+1-\alpha)=\psi\left(p(z), z p^{\prime}(z) ; z\right)
\end{aligned}
$$

where

$$
\begin{aligned}
\psi(r, s ; t)= & \alpha \lambda(1-\beta) s+\alpha(1-\beta)^{2} r^{2}+(1-\beta)(2 \alpha \beta+1-\alpha) r^{2} \\
& +\beta(\alpha \beta+1-\alpha)
\end{aligned}
$$

For all $x, y \in \mathbb{R}$ satisfing $y \leq-n\left(1+x^{2}\right) / 2$ we have the inequalities

$$
\begin{aligned}
\operatorname{Re} \psi(i x, y ; z) & =\alpha \lambda(1-\beta) y-\alpha(1-\beta)^{2} x^{2}+\beta(\alpha \beta+1-\alpha) \\
& \leq \frac{-n \lambda \alpha}{2}(1-\beta)-\left[\frac{n \lambda \alpha}{2}(1-\beta)+\alpha(1-\beta)^{2}\right] x^{2}+\beta(\alpha \beta+1-\alpha)
\end{aligned}
$$

$$
\leq \beta(\alpha \beta+1-\alpha)-\frac{n \lambda \alpha}{2}(1-\beta)=\alpha \beta\left(\beta+\frac{n \lambda}{2}-1\right)+\left(\beta-\frac{n \lambda \alpha}{2}\right)
$$

If we let

$$
\Omega=\left\{\omega \in \mathbb{C}: \operatorname{Re} \omega>\alpha \beta\left(\beta+\frac{n \lambda}{2}-1\right)+\left(\beta-\frac{\lambda n \alpha}{2}\right)\right\}
$$

then $\psi\left(p(z), z p^{\prime}(z) ; z\right) \in \Omega$ and $\psi(i x, y ; z) \notin \Omega$, for all $x, y \in \mathbb{R}$ with $y \leq-n\left(1+x^{2}\right) / 2$ and for all $z \in \mathrm{U}$, hence by applying Lemma 1.4 we obtain the required result.

Combining the above result together with the inclusion (2.1) of Theorem 2.1 we get the next corollary:

Corollary 3.1. Let $0 \leq \lambda \leq 1,1-\lambda \leq \alpha<1, \beta<1$ and $m \in \mathbb{N}$. If $f \in A_{n}$ satisfies

$$
\begin{aligned}
\operatorname{Re}\left\{\lambda \frac{D_{\lambda}^{m} f(z)}{D_{\lambda}^{m-1} f(z)}\right. & {\left.\left[\alpha \frac{D_{\lambda}^{m+1} f(z)}{D_{\lambda}^{m} f(z)}+1-\alpha\right]+1-\lambda\right\} } \\
& >\lambda \alpha \beta\left(\beta+\frac{n \lambda}{2}-1\right)+\left(\lambda \beta-\frac{\lambda^{2} n \alpha}{2}-\lambda+1\right), \quad z \in \mathrm{U}
\end{aligned}
$$

then $f \in S^{*}(\rho)$, where $\rho=\frac{\beta-(1-\lambda)}{\lambda}$.
Taking $m=1$ in Theorem 3.1, we obtain the following implication:
Corollary 3.2 ([RaSeRa02]). Let $\alpha \geq 0$ and $\beta<1$. If $f \in A_{n}$ satisfies

$$
\operatorname{Re}\left[\frac{z f^{\prime}(z)}{f(z)}\left(\alpha \frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}+1\right)\right]>\alpha \beta\left(\beta+\frac{n}{2}-1\right)+\left(\beta-\frac{\alpha n}{2}\right), \quad z \in \mathrm{U}
$$

then $f \in S^{*}(\beta)$.
If we take in this corollary $\beta=\alpha / 2$ and $n=1$, we deduce the next result:
Corollary 3.3 ([LiOw02]). Let $0 \leq \alpha<2$. If $f \in A$ satisfies

$$
\operatorname{Re}\left[\frac{z f^{\prime}(z)}{f(z)}\left(\alpha \frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}+1\right)\right]>-\frac{\alpha^{2}}{4}(1-\alpha), \quad z \in \mathrm{U}
$$

then $f \in S^{*}\left(\frac{\alpha}{2}\right)$.
Now we shall prove another sufficient condition for a function $f \in A_{n}$ to be in the class $S^{m}(n, \lambda, \beta)$.

Theorem 3.2. Let $\lambda \geq 0,0 \leq \beta<1$ and suppose that the numbers

$$
\begin{equation*}
a=\left(\frac{\lambda n}{2}+1-\beta\right)^{2} \quad \text { and } \quad b=\left(\frac{\lambda n}{2}+\beta\right)^{2} \tag{3.1}
\end{equation*}
$$

satisfy the inequality

$$
\begin{equation*}
(a+b) \beta^{2}<b(1-2 \beta) \tag{3.2}
\end{equation*}
$$

If $t_{0}$ is the positive root of the equation

$$
2 a(1-\beta)^{2} t^{2}+\left[3 a \beta^{2}+b(1-\beta)^{2}\right] t+\left[(\alpha+2 b) \beta^{2}-(1-\beta)^{2} b\right]=0
$$

let denote

$$
\rho=\sqrt{\frac{(1-\beta)^{3}\left(1+t_{0}\right)^{2}\left(a t_{0}+b\right)}{\beta^{2}+(1-\beta)^{2} t_{0}}} .
$$

If $f \in A_{n}$ satisfies

$$
\begin{equation*}
\left|\left(\frac{D_{\lambda}^{m+1} f(z)}{D^{m} f(z)}-1\right)\left(\frac{D_{\lambda}^{m} f(z)}{D_{\lambda}^{m-1} f(z)}-1\right)\right|<\rho, \quad z \in \mathrm{U} \tag{3.3}
\end{equation*}
$$

then $f \in S^{m}(n, \lambda, \beta)$, where $m \in \mathbb{N}$.
Proof. Let define the function $p \in H(\mathrm{U})$ by

$$
p(z)=\frac{1}{1-\beta}\left(\frac{D_{\lambda}^{m} f(z)}{D_{\lambda}^{m-1} f(z)}-\beta\right) .
$$

With this notation it follows that

$$
\frac{D_{\lambda}^{m+1} f(z)}{D_{\lambda}^{m} f(z)}-1=\frac{(1-\beta) \lambda z p^{\prime}(z)+[(1-\beta) p(z)+\beta]^{2}-[(1-\beta) p(z)+\beta]}{(1-\beta) p(z)+\beta}
$$

hence

$$
\begin{gathered}
\left(\frac{D_{\lambda}^{m+1} f(z)}{D_{\lambda}^{m} f(z)}-1\right)\left(\frac{D_{\lambda}^{m} f(z)}{D_{\lambda}^{m-1} f(z)}-1\right)=\frac{(1-\beta)(p(z)-1)}{(1-\beta) p(z)+\beta} \\
\cdot\left\{(1-\beta) \lambda z p^{\prime}(z)+[(1-\beta) p(z)+\beta]^{2}-[(1-\beta) p(z)+\beta]\right\}=\psi\left(p(z), z p^{\prime}(z) ; z\right)
\end{gathered}
$$

Now, for all $x, y \in \mathbb{R}$ satisfying $y \leq-n\left(1+x^{2}\right) / 2$, we have

$$
\begin{aligned}
|\psi(i x, y ; z)|^{2}= & \frac{(1-\beta)^{2}(1+t)}{\beta^{2}+(1-\beta)^{2} t} \cdot\left\{\left[(1-\beta) \lambda y-\beta+\beta^{2}-(1-\beta)^{2} t\right]^{2}\right. \\
& \left.+[2 \beta(1-\beta)-(1-\beta)]^{2} t\right\}=g(t, y)
\end{aligned}
$$

where $t=x^{2}$ and $y \leq-n(1+t) / 2$. If $\lambda \geq 0$ and $0 \leq \beta<1$, since

$$
\begin{aligned}
\frac{\partial g(t, y)}{\partial y} & =\frac{2(1-\beta)^{3}(1+t)}{\beta^{2}+(1-\beta)^{2} t}\left[(1-\beta) \lambda y-\beta+\beta^{2}-(1-\beta)^{2} t\right] \\
& =\frac{2(1-\beta)^{4}(1+t) \lambda}{\beta^{2}+(1-\beta)^{2} t}[\lambda y-\beta-(1-\beta) t]<0, \quad t \geq 0
\end{aligned}
$$

then for all $y \leq-n(1+t) / 2$ we have

$$
g(t, y) \geq g\left(t, \frac{-n(1+t)}{2}\right)=h(t), \quad t \geq 0
$$

According to the above results, we need to determine the minimum of the function $h:[0,+\infty) \rightarrow \mathbb{R}$,

$$
h(t)=\frac{(1-\beta)^{3}(1+t)^{2}}{\beta^{2}+(1-\beta)^{2} t}(a t+b)
$$

where $a$ and $b$ are defined by (3.1).
With these notations, the derivative $h^{\prime}(t)=\frac{(\beta-1)^{2}(1+t)}{\left[\beta^{2}+(\beta-1)^{2} t\right]^{2}} H(t)$, where

$$
H(t)=2 a(1-\beta)^{2} t^{2}+\left[3 a \beta^{2}+b(1-\beta)^{2}\right] t+\left[(a+2 b) \beta^{2}-t(1-\beta)^{2} b\right]
$$

We have that $h^{\prime}(-1)=0$ and the other two roots of $h^{\prime}(t)=0$ are given by $H(t)=0$, i.e.

$$
2 a(1-\beta)^{2} t^{2}+\left[3 a \beta^{2}+b(1-\beta)^{2}\right] t+\left[(a+2 b) \beta^{2}-(1-\beta)^{2} b\right]=0
$$

If we denote the discriminant of $H$ by $D(\beta, \lambda n)$, then

$$
\begin{equation*}
D(\beta, \lambda n)=\lambda n\left(\beta-\frac{1}{2}\right)^{2}\left[\left(\beta-\frac{1}{2}\right)^{2}-\frac{1+\lambda n}{4}\right] R(\beta, \lambda n) \tag{3.4}
\end{equation*}
$$

where

$$
R(\beta, \lambda n)=4(\lambda n-8) \beta^{2}+4(7 \lambda n+16) \beta-\left(9 \lambda^{2} n^{2}+32 \lambda n+32\right)
$$

First we see that

$$
\begin{equation*}
\left(\beta-\frac{1}{2}\right)^{2}\left[\left(\beta-\frac{1}{2}\right)^{2}-\frac{1+\lambda n}{4}\right] \leq 0, \text { for } \beta \in[0,1), \quad \lambda \geq 0, n \in \mathbb{N} \tag{3.5}
\end{equation*}
$$

Since for all $\beta \in[0,1)$ and $\lambda n \geq 0$ we have

$$
R(\beta, \lambda n)=-9 \lambda^{2} n^{2}+4(\beta+8)(\beta-1) \lambda n-32(\beta-1)^{2} \leq 0
$$

if we combine this inequality together with (3.5), from (3.4) it follows that $D(\beta, \lambda n) \geq 0$ for all $\lambda n \geq 0$ and $\beta \in[0,1)$, so the roots of $H$ are real. If the roots of $H$ are denoted by $t_{0}$ and $t_{1}$, then from the assumption (3.2) we have $t_{0} t_{1}>0$, hence the equation $h^{\prime}(t)=0$ has one positive root $t_{0}$.

From the fact that $h^{\prime}(t) \leq 0$ for $t \in\left[0, t_{0}\right]$ and $h^{\prime}(t) \geq 0$ for $t \geq t_{0}$, we get that $h(t) \geq h\left(t_{0}\right)$ for all $t \geq 0$, and it follows that

$$
|\psi(i x, y ; z)|^{2} \geq h\left(t_{0}\right)
$$

for all $x, y \in \mathbb{R}$ such that $y \leq-n\left(1+x^{2}\right) / 2$ and $z \in \mathrm{U}$.
If we define the set $\Omega=\{\omega \in \mathbb{C}:|\omega|<\rho\}$, then $\psi\left(p(z), z p^{\prime}(z) ; z\right) \in \Omega$ and $\psi(i x, y ; z) \notin \Omega$ for all $x, y \in \mathbb{R}$ with $y \leq-n\left(1+x^{2}\right) / 2$ and for all $z \in \mathrm{U}$, hence by applying Lemma 1.4 we obtain our result.

Remarks 3.1. 1. For the special $m=1$ and $\lambda=1$, the result was studied in [RaSeRa02].
2. For the special case $n=1, \beta=0, m=1$ and $\lambda=1$, we may easily obtain $t_{0}=(\sqrt{73}-1) / 36$ and therefore we have the following result from [LiOw02]: if $f \in A$ satisfies

$$
\left|\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\left(\frac{z f^{\prime}(z)}{f(z)}-1\right)\right|<\rho, \quad z \in \mathrm{U}
$$

where $\rho=\sqrt{\frac{827+73 \sqrt{73}}{288}}$, then $f \in S^{*}$.

## 4. Some applications of a result of M. Robertson

Now, by using Lemma 1.5, we will obtain a sufficient condition such that a function $f \in A$ belongs to $S^{m}(1, \lambda, \rho)$.

Theorem 4.1. Let $\alpha<1, \lambda \geq 0$ and $m \in \mathbb{N}$. Let $f \in A$, and suppose that the next two relations hold for all $0 \leq t \leq 1$ :

$$
g(z)=\frac{1}{1-\alpha}\left[D_{\lambda}^{m} f(z)-\alpha D_{\lambda}^{m-1} f(z)\right] \in S
$$

and

$$
G(z, t)=\frac{1}{1-\alpha}\left[(1-t) D_{\lambda}^{m} f(z)-\alpha\left(1-t^{2}\right) D_{\lambda}^{m-1} f(z)\right] \prec g(z)
$$

Then $f \in S^{m}(1, \lambda, \rho(\lambda, \alpha, m))$, where $\rho(\lambda, \alpha, m)=\alpha+1-\lambda+\mu(\lambda, \alpha, m)$ and

$$
\begin{equation*}
\mu(\lambda, \alpha, m)=\inf \left\{\alpha(\lambda-1) \operatorname{Re} \frac{D_{\lambda}^{m+1} f(z)}{D_{\lambda}^{m} f(z)}: z \in \mathrm{U}\right\} . \tag{4.1}
\end{equation*}
$$

Proof. It is easy to see that

$$
G(z)=\lim _{t \rightarrow 0^{+}} \frac{G(z, t)-G(z, 0)}{z t}=\frac{-D_{\lambda}^{m} f(z)}{(1-\alpha) z}
$$

and

$$
g^{\prime}(z)=\frac{1}{1-\alpha}\left[\left(D_{\lambda}^{m} f(z)\right)^{\prime}-\alpha\left(D_{\lambda}^{m-1} f(z)\right)^{\prime}\right]
$$

Furthermore, it follows that $G \in H(\mathrm{U})$ and $\operatorname{Re} G(0)=-1 /(1-\alpha) \neq 0$.
Consequently, by using Lemma 1.5 for the special case $p=1$, together with the definitions (1.1) and (1.2), we obtain

$$
\operatorname{Re} \frac{g^{\prime}(z)}{G(z)}=\operatorname{Re}\left[\alpha+1-\lambda+\alpha(\lambda-1) \frac{D_{\lambda}^{m-1} f(z)}{D_{\lambda}^{m} f(z)}-\frac{D_{\lambda}^{m+1} f(z)}{D_{\lambda}^{m} f(z)}\right]<0, \quad z \in \mathrm{U}
$$

and multiplying by $\lambda \geq 0$ we get

$$
\operatorname{Re} \frac{D_{\lambda}^{m+1} f(z)}{D_{\lambda}^{m} f(z)} \geq \alpha+1-\lambda+\alpha(\lambda-1) \operatorname{Re} \frac{D_{\lambda}^{m-1} f(z)}{D_{\lambda}^{m} f(z)}, \quad z \in \mathrm{U}
$$

If $\mu(\lambda, \alpha, m)$ is given by (4.1), the above inequality shows that $f \in S^{m}(1, \lambda, \rho(\lambda, \alpha, m))$, which completes the proof of the theorem.

Remark 4.1. If we take in the above theorem $\lambda=1$ we have the result of Owa, Obradović and Lee from [OwObLe86], while for $\lambda=1$ and $m=0$ we have the result of Obradović obtained in [Ob83].

Theorem 4.2. Let $\lambda>0, \alpha<1$ and $m \in \mathbb{N}_{0}$. If the function $f \in S^{m+1}(n, \lambda, \alpha)$, then

$$
\begin{equation*}
\operatorname{Re}\left[\frac{D_{\lambda}^{m} f(z)}{z}\right]^{\beta}>\frac{n \lambda}{2 \beta(1-\alpha)+n \lambda}, \quad z \in \mathrm{U} \tag{4.2}
\end{equation*}
$$

whenever $0<2 \beta(1-\alpha) \leq \lambda n$. (The power in (4.2) is the principal one)
Proof. If $f \in S^{m+1}(n, \lambda, \alpha)$, according to the definition (1.4) and using (1.1) and (1.2), we have

$$
1-\lambda+\lambda \operatorname{Re} \frac{z\left(D_{\lambda}^{m} f(z)\right)^{\prime}}{D_{\lambda}^{m} f(z)}>\alpha, \quad z \in \mathrm{U} .
$$

It follows that $D_{\lambda}^{m} f(z) \neq 0$ for all $z \in \dot{\mathrm{U}} \equiv \mathrm{U} \backslash\{0\}$, and combining this together with (1.3) we deduce that

$$
\frac{D_{\lambda}^{m} f(z)}{z} \neq 0, \quad z \in \mathrm{U}
$$

Let now define the function $p$ by

$$
\begin{equation*}
\left[\frac{D_{\lambda}^{m} f(z)}{z}\right]^{\beta}=(1-\mu) p(z)+\mu \tag{4.3}
\end{equation*}
$$

where

$$
\begin{equation*}
\frac{1}{2} \leq \mu=\frac{n \lambda}{2 \beta(1-\alpha)+n \lambda}<1 \tag{4.4}
\end{equation*}
$$

whenever $0<2 \beta(1-\alpha) \leq \lambda n, \lambda>0$ and $\alpha<1$. Then $p \in H(\mathrm{U})$ with $p(0)=1$, and differentiating logarithmically both sides of (4.3) we obtain

$$
\frac{D_{\lambda}^{m+1} f(z)}{D_{\lambda}^{m} f(z)}-\alpha=\frac{\lambda z p^{\prime}(z)}{\beta\left[p(z)+\frac{\mu}{1-\mu}\right]}+1-\alpha
$$

Using the fact $f \in S^{m+1}(n, \lambda, \alpha)$, this above relation shows that

$$
\begin{equation*}
\operatorname{Re} \frac{\lambda z p^{\prime}(z)}{\beta\left[p(z)+\frac{\mu}{1-\mu}\right]}+1-\alpha>0, \quad z \in \mathrm{U} \tag{4.5}
\end{equation*}
$$

and if define the function $\psi: \mathbb{C}^{2} \times \mathrm{U} \rightarrow \mathbb{C}$ by

$$
\begin{equation*}
\psi(u, v ; z)=\frac{\lambda v}{\beta\left(u+\frac{\mu}{1-\mu}\right)}+1-\alpha \tag{4.6}
\end{equation*}
$$

then (4.5) may be rewritten as $\operatorname{Re} \psi\left(p(z), z p^{\prime}(z) ; z\right)>0, z \in \mathrm{U}$.
From (4.6) it follows that $\psi$ is continuous on the domain $D=\left(\mathbb{C} \backslash\left(-\frac{\mu}{1-\mu}\right)\right) \times \mathbb{C} \times \mathrm{U},(1,0 ; z) \in D$ and $\operatorname{Re} \psi(1,0 ; z)=1-\alpha>0$, for all $z \in \mathrm{U}$. Moreover, for all $(i x, y ; z) \in D$ such that $x, y \in \mathbb{R}$ and $y \leq-n\left(1+x^{2}\right) / 2$, a simple calculus combined with (4.4) shows that

$$
\operatorname{Re} \psi(i x, y ; z) \leq-\frac{\lambda n}{2 \beta} \cdot \frac{\mu}{1-\mu} \cdot \frac{x^{2}+1}{x^{2}+\left(\frac{\mu}{1-\mu}\right)^{2}}+1-\alpha \leq 0, \quad z \in \mathrm{U}
$$

provided $0<2 \beta(1-\alpha) \leq \lambda n, \lambda>0$ and $\alpha<1$.
Consequently, the function $\psi$ satisfies the conditions of Lemma 1.4 with $\Omega=\{w \in \mathbb{C}: \operatorname{Re} w>0\}$, and thus we deduce

$$
\operatorname{Re} p(z)>0, \quad z \in \mathrm{U}
$$

This inequality together with the relation (4.3) implies (4.2), and the proof is complete.

Remark 4.2. Taking in this theorem $\lambda=1$ and $n=1$ we obtain the result of Owa, Obradović and Lee from [OwObLe86], and letting $\lambda=1, m=0$ and $n=1$ we obtain the result of Obradović [Ob83].

## References

[Ob04] F. Al-Oboudi, On univalent functions defined by a generalized Sălăgean operator, Int. J. Math. Math. Sci. 27 (2004), 1429-1436.
[Ber69] S. D. Bernardi, Convex and starlike univalent functions, Trans. Amer. Math. Soc. 135 (1969), 429-446.
[EeMiMoRe83] P. J. Eenigenburg, S. S. Miller, P. T. Mocanu and M. O. Reade, On a Briot-Bouquet differential subordination, General Inequalities 3, International Series of Numerical Mathematics, Vol. 64, Birkhäuser Verlag, Basel, 1983, 339-348.
[LewMiZl76] Z. Lewandowski, S. S. Miller and E. ZŁotkiewicz, Generating function for some classes of univalent functions, Proc. Amer. Math. Soc. 56 (1976), 111-117.
[LiOw98] J. Li and S. OwA, Properties of Sălăgean operator, Georgian Math. J. 5(4) (1998), 361-366.
[LiOw02] J. Li and S. OwA, Sufficient condition for starlikeness, Indian J. Pure Appl. Math. 33 (2002), 313-318.
[MiMo87] S. S. Miller and P. T. Mocanu, Differential subordinations and inequalities in complex plane, J. Diff. Equations 67(2) (1987), 199-211.
[MiMo00] S. S. Miller and P. T. Mocanu, Differential Subordinations. Theory and Applications, Marcel Dekker Inc., New York, Basel, 2000.
[Ob83] M. Obradović, Two applications of one of Robertson's results, Mat. Vesnik 35 (1983), 283-287.
[ObRu92] M. Obradović and S. Ruscheweyh, Derivatives and some classes of univalent functions, Current Topics in Analytic Function Theory, (H. Srivastava and S. Owa, eds.), World Sci. Publ., River Edge, NJ., 1992, 220-233.
[OwObLe86] S. Owa, M. Obradović and S. Lee, Note on centain subclass of analytic functions introduced by Sălăgean, Bull. Korean Math. Soc. 23(2) (1986), 133-140.
[Pa79] N. N. Pascu, Alpha-close-to-convex functions, Roumanian-Finnish Seminar on Complex Analysis, Springer Verlag, Berlin, 1979, 331-335.
[RaKuPa95] C. Ramesha, S. Kumar and K. Padmanabhan, A sufficient condition for starlikeness, Chinese J. Math. 23 (1995), 167-171.
[RaSeRa02] V. Ravichandran, C. Selvaraj and R. Rajalaksmi, Sufficient conditions for starlike functions of order $\alpha$, J. Ineq. Pure Appl. Math. 3(5) (2002), 1-6.
[Rob61] M. Robertson, Application of subordination principle to univalent functions, $P a$ cific J. Math. 11 (1961), 315-325.
[Sal83] Gr. ŞT. SĂLĂGEAN, Subclasses of univalent functions, Lecture Notes in Math., Vol. 1013, Springer Verlag, Berlin, Heidelberg and New York, 1983, 362-372.

NAILAH M. ALDIHAN
MATHEMATICS DEPARTMENT
GIRLS COLLEGE OF EDUCATION
SITTEEN STREET, MALAZ, RIYADH 11575, P.O. 61410
SAUDI ARABIA
E-mail: n_aldihan@hotmail.com
TEODOR BULBOACĂ
FACULTY OF MATHEMATICS AND COMPUTER SCIENCE
BABEŞ-BOLYAI UNIVERSITY
400084 CLUJ-NAPOCA
ROMANIA
E-mail: bulboaca@math.ubbcluj.ro

